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QUESTION ONE

Refer to Report 1 in the resource booklet to answer the following questions.

(a) Identify and describe the explanatory and response variables for this study.
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(if) A potential issue with a statistical study is extending The results inappropriately. Q/ha//@(;(% e

Discuss TWO potential issues with extending the results of this study to alL A;ogs in
rehommg centres.- e
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QUESTION TWO

Refer to Report 2 in the resource booklet to answer the following questions.
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(a) The report states that 500 dog owners were surveyed.

(i) Calculate the_margm of error for this- survey
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The report states that the K9 Natural survey “revealed that @@f dogs suffer from an array ASSESSOR'S
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(i) _One component to consider.when evaluati
stuéy—— ,

-statistical-survey reports-is who funded the

Explaln ‘why there is a potential issue with who funded this survey.
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(i) Discuss ONE potentiaffion- -sampling error for this survey and how it could cause bias.
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QUESTION THREE

Refer to Report 3 in the resource booklet to answer the following questions.

e
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Excellence exemplar 2017

Subject:

Statistics Standard: | 91584 Total score: | 23

Q

Grade
score

Annotation

E8

1(a) Describes the explanatory and response variables
1(b) Demonstrates understanding of paired comparison design
1(c)(i) Doesn’t discuss order of the conditions being randomly allocated

1(c)(ii) Discusses two potential issues with extending the results, both use
specific information from the statistical report and both focus on the
generalisability of the results (response to classical music in terms of stress
and other related behaviours)

E8

2(a)(i) Calculates margin of error using rule of thumb

2(a)(ii) Explanation links margin of error and variation of sample/survey
percentages

2(b) Correctly constructs confidence interval, interprets the confidence interval
in context, and uses the confidence interval to support the claim.

2(c)(i) Explains why there is a potential issue with who funded the survey but
needed to specifically quote evidence from the statistical report

2(c)(ii) Describes the non-sampling error (selection bias, reference to sampling
frame) as it applies to this context (use of online survey company Survey
Monkey) and explains how it could cause bias (possibly excluding older dog
owners who know more about the food they feed their dogs)

E7

3(a)(i) Correctly reasons the sample size must be lower since the margin of
error is higher.

3(a)(ii) Identifies the survey percentage of 25% is outside 30% - 70%
guidelines, and explains associated margin of error would be smaller than
3.6%

3(b) Identifies sampling situation for margin of error, constructs and interprets
the confidence interval in context, and uses the confidence interval to support
the claim made. The confidence interval interpretation uses “l would expect”
rather than “It's a fairly safe bet”, “I'm pretty sure”, or “With 95% confidence”.
The presentation of the confidence interval earlier in the response is also
incorrect.

3(c) Provides a good explanation that uses a variety of evidence from the
statistical report, however, there is no reference to sampling variability in the
response despite using survey percentages in the answer.






